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QUIZ #12 VERSION B
"Telecommunications"

INSTRUCTIONS:  This exam is closed-book, closed-notes.  Simple calculators are permitted, but graphing calculators or calculators with alphabetical keyboards are NOT permitted.  Point values for each question are noted in brackets.
I.  Multiple choice:  Circle the one best answer to each question.  [2 pts each: 28 pts total]

(1) Interstate long-distance telephone rates were first regulated by the federal government in
a. 1894.

b. 1910.

c. 1934.

d. 1956.

e. 1984.

(2) AT&T’s right to prohibit terminal equipment made by other manufacturers was first successfully challenged in the

a. Commuications Act of 1934.

b. Hush-a-Phone case of 1956.
c. MCI case of 1969.

d. Modification of Final Judgment, effective 1984.

(3) From 1956 to 1980, AT&T purchased its equipment from

a. its own subsidiary, which sold only to AT&T.

b. Nortel.

c. the open market, by competitive bid.

d. its own subsidiary, which also sold equipment in unregulated markets.

(4) The minimum efficient scale of production in an industry can decrease if

a. fixed costs decrease.

b. variable costs decrease.

c. demand shifts right.

d. demand shifts left.

(5) If a regulated monopoly is required to price Service A below average incremental cost and Service B above average cost, then entry will occur only in the market for Service B.  This phenomenon is called

a. cream-skimming.

b. increasing returns.

c. predation.

d. economies of scope.

(6) In 1969, the FCC decided that private-line service could be offered between St. Louis and Chicago by

a. MCI.

b. WorldCom.

c. AT&T.

d. Sprint.

(7) Entry of competitors into AT&T’s long-distance private line and MTS markets occurred first in

a. high-density routes.

b. low-density routes.

c. both of the above simultaneously.

d. cannot be determined from information given.

(8) Even after entry of competitors, the FCC continued to regulate AT&T’s long-distance rates because the FCC feared
a. demand would outstrip supply if prices were reduced too fast.

b. AT&T did not know how to set its own prices, after 70 years of federal regulation.

c. AT&T would go bankrupt.

d. AT&T would engage in predation.

(9) The DOJ Antitrust Division filed suit against AT&T in 1974, accusing AT&T of

a. violating the 1956 Final Judgment by entering unregulated markets, such as computers.

b. predatory pricing.

c. price-fixing.

d. obstructing access of competitors to the local network.

e. All of the above.


(10) The 1982 consent decree (or "Modification of Final Judgment") required AT&T to divest its

a. local phone companies.

b. Bell Laboratories.

c. long-distance operations.

d. equipment manufacturing.

e. All of the above.

(11) A "LATA" is a

a. device connecting private networks to the telephone company’s network.

b. device for scaling the outside of buildings or other structures.

c. new telecommunications technology that substantially reduced economies of scale.

d. geographic area within which, initially, calls were routed only through the local phone company.


(12) The 1982 consent decree (or "Modification of Final Judgment") allowed the seven regional companies to

a. offer local phone service.

b. offer long-distance service.

c. sell telephone equipment.

d. All of the above.

(13) In the decade after the consent decree (or "Modification of Final Judgment") was put into effect in 1984, long distance telephone rates

a. rose sharply.

b. rose gradually.

c. did not change.

d. dropped gradually.

e. dropped sharply.

(14) The Telecommunications Act of 1996 has succeeded in increasing competition substantially in

a. local telephone service.

b. cable TV service.

c. long distance telephone service.

d. All of the above.

II.  Problems:  Insert your answer to each question below in the box provided.  Feel free to use the margins for scratch work(only the answers in the boxes will be graded.  Work carefully(partial credit is not normally given for questions in this section.

(1)  [Long-distance telecommunications technology: 16 pts]  Put the following dates next to the technologies listed below, showing when they were first deployed.
· 1890s
· 1930s
· 1940s and 1950s
· 1970s and 1980s

	Technology
	Dates deployed

	Coaxial cable
	

	Fiber-optic cable
	

	Microwave
	

	Open wire
	


(2) [Transformation of natural monopoly: 28 pts]  The graph below shows industry demand and average cost curves for a typical individual firm.
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Suppose the average cost curve for a typical firm is given by "Old avg cost."

	a. What is the minimum efficient scale?


	million

	b. Is this industry a natural monopoly?  Answer yes or no.

	


Suppose the average cost curve for a typical firm is given by "New avg cost."

	c. What is now the minimum efficient scale?


	million

	d. Is this industry now a natural monopoly?  Answer yes or no.


	

	e. If the firms in this industry engage in price competition and there is free entry and exit, what will be the equilibrium market price?
	$

	f. What will be the equilibrium market quantity under price competition?


	million

	g. What is the maximum number of firms that this industry can support under price competition?
	firms


(3) [Multiproduct cost functions: 28 pts]  Acme Manufacturing produces two products:  X and Y.  Let  QX  denote the quantity of product X, and let  QY  denote the quantity of product Y.  The total cost  C(QX,QY)  of producing the products at various levels of output are given by the following table.

	
	
	QY

	
	
	0
	1
	2
	3
	4

	
	0
	$0
	$12
	$18
	$23
	$28

	
	1
	$15
	$25
	$30
	$35
	$39

	QX
	2
	$23
	$32
	$37
	$41
	$45

	
	3
	$29
	$38
	$42
	$46
	$50

	
	4
	$34
	$42
	$47
	$51
	$54


	a. Find C(QX,QY) = C(4,0).
	$

	b. Find C(QX,QY) = C(0,3).
	$

	c. Find C(QX,QY) = C(4,3).
	$


d. [4 pts] Does Acme Manufacturing enjoy economies of scope?  Why or why not?

e. Compute the incremental cost of product X, given that the firm will produce 2 units of product Y, and place your answers in the table below.
f. Compute the average incremental cost of product X, given that the firm will produce 2 units of product Y, and place your answers in the table below.
	QY
	IC(QX) given QY=2
	AIC(QX) given QY=2

	1
	$
	$

	2
	$
	$

	3
	$
	$

	4
	$
	$


g. Does Acme Manufacturing enjoy product-specific economies of scale for product Y?  Why or why not?

[end of quiz]



































































